
SM2 11.5 answers 

 

1.   

 

𝑚∠𝐴 =  _______52°___  𝑎 =  ____10.2______    

 

𝑚∠𝐵 =  _______38°___  𝑏 =  _____8_____    

  

 𝑚∠𝐶 = _______90°____  𝑐 =  _____13_____ 

 

2. 

 

 

𝑚∠𝐴 =  ____27°______  𝑎 =  ____2______    

 

𝑚∠𝐵 =  _____63°_____  𝑏 =  _____3.9_____    

  

 𝑚∠𝐶 = ____90°_______  𝑐 =  ____4.4______ 

 

3. 

 

 

𝑚∠𝐴 =  ____23°______  𝑎 =  ____4.7______    

 

𝑚∠𝐵 =  _____67°_____  𝑏 =  _____11.0_____    

  

 𝑚∠𝐶 = _____90°______  𝑐 =  _____12_____ 

 

4.  

 

𝑚∠𝐴 =  ____16.7°______  𝑎 =  ____3______    

 

𝑚∠𝐵 =  ____73.3°______  𝑏 =  _____10_____    

  

 𝑚∠𝐶 = ____90°_______  𝑐 =  _____10.4_____ 

 

5.  

 

𝑚∠𝐴 =  ____44°______  𝑎 =  ____9.7______    

 

𝑚∠𝐵 =  ____46°______  𝑏 =  _____10_____    

  

 𝑚∠𝐶 = ____90°_______  𝑐 =  _____13.9_____ 

 

6.  

 

𝑚∠𝐴 =  ____53.2°______  𝑎 =  ____14.7______    

 

𝑚∠𝐵 =  _____36.8°_____  𝑏 =  _____11_____    

  

 𝑚∠𝐶 = _____90°______  𝑐 =  _____18.4_____ 

 

7.  

 

𝑚∠𝐴 =  ____18.4°______  𝑎 =  _____3_____    

 

𝑚∠𝐵 =  ____71.6°______  𝑏 =  _____9.0_____    

  

 𝑚∠𝐶 = ____90°_______  𝑐 =  _____9.5_____ 

 

8.  

 

𝑚∠𝐴 =  ____55°______  𝑎 =  ____4.9______    

 

𝑚∠𝐵 =  ____35°______  𝑏 =  _3.5 𝑜𝑟 3.4_____    

  

 𝑚∠𝐶 = ____90°_______  𝑐 =  _____6_____ 

 

 


